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ReadingComprehensio
　　TheAnalysisoftheOutline（考纲分析）
　　本部分考查理解书面英语的能力，理解总体和特定信息的能力。要求考生能读懂通知、简单的介绍和广告、通俗易懂的英文报刊或报纸等。PETS第二级阅读理解部分权重为30%，由此可见，阅读理解是PETS各级考试的重点。
　　TheFeatureoftheTestQuestions（试题特点）
　　PETS第二级的阅读理解题部分有5篇阅读理解短文，针对这5篇短文，共设计了20道题。要求根据所提供的短文的内容（总长度约1000词），从每题所给的4个选择项中选出最佳选项。答题时间为35分钟。主要有以下特点:
　　1.题材和体裁
　　从历届考题来看，阅读理解题的选材主要体现在科普常识、幽默故事、史地知识、人物传记、新闻报道、日常生活等方面，尤其是科普类文章、幽默故事以及日常生活之类的文章几乎每年都有。而史地知识（往往配图）和人物传记方面的文章也为数不少，政治和经济方面的文章相对较少。体裁则主要为记叙文和说明文，有少数应用文和议论文。虽然文章的内容的范围比较大，但所考文章一般不过多涉及专业化的知识和术语，所以掌握2000个左右的词汇及相关词组的话，要完成这部分内容，一般来说，不会存在太大的困难。
　　2.题型规律
　　从题型看，主要分为事实题、推断题和词义理解题三类。
　　事实题包括可从阅读材料中直接找到答案的一些细节性事实题，也包括要对文中细节性事实进行简单概括的概括性事实题。
　　推断题要求考生在归纳、概括、推理等方面有较高的水平，常常需要考生根据文章的字面意思去推断作者对待某个问题的观点和态度，寻找某些文章中并未明确提及但却可以由上下文引申出的极为重要的信息等；或根据某个事实再加上中学生所应具备的基本常识，进行恰当的推理，从而得出合情合理的结论。
　　词义理解题要求考生根据上下文甚至全篇提供的语言环境，推测生词的含义，这类题主要考查考生对阅读材料的综合理解力和深层阅读能力。
　　研究表明:历届考试命题主要集中在"细节理解"和"推断理解"两方面，其比例约占此部分总分的80%左右，其它的如"文章标题"、"中心思想"、"段落大意"、"推断词义"等约占20%。
　　3.设题规律
　　从问题设计的角度看，深层理解的试题占的比例越来越大，从较深层次上考查考生对文章的理解和推断能力。句义、词义的考查要求考生通过上下文推测它们的含义，虽有些词并非生词，但其含义已超出字面意义，只有通过上下文才能把握确切含义。因此，阅读理解部分一般没有轻轻松松就能答对的题。
　　TheKeyPointsandtheCountermeasures（测试要点及复习对策）
　　PETS第二级阅读理解分5篇短文，考查考生正确理解文章主题和根据具体细节进行推理判断的能力。考生应当掌握各类题材、体裁的阅读方式，不同类型段落的阅读方式，如略读、查读、研读、词义猜测等，还要掌握各类题型的解题方式。阅读理解能力测试的主要能力是:
　　（1）掌握所读材料的主旨和大意；
　　（2）确认用以说明主旨和大意的事实和细节；
　　（3）简单的推断能力；
　　（4）推测词语或句子含义的能力；
　　（5）理解作者的意图和态度。
　　TheAnalysisoftheTypicalExamples（典型例题剖析）
　　Section1theTypicalExamples（典型例题）
　　为帮助同学们熟悉题型并掌握相应的解题技巧，下面我们来分析一些典型的二级阅读理解试题：
　　1.事实题
　　在阅读理解题中，有相当一部分属于事实或细节题，考查的是比较直接、具体的问题，可以直接在文中找到答案。这类问题多以“wh-”来提问，如which,what,where,when,why等，下面就这类题的正确解法作简要说明。
　　（1）直接事实题
　　因为这类题的答案在文章中可以直接找到，所以在解答这类问题时,我们可以先读题目，然后牢记题目要求寻找的内容，带着问题有针对性地阅读文章。
　　【典型试题1】
　　AgiantdamwasbuiltmanyyearsagotocontroltheColoradoRiverintheU.S..Thisdamwasbuilttoprotectthelandandhousesaroundtheriver.
　　ThishugedamisintheBlackCanyon.Itispossibletodriveacarfromonesideoftherivertotheotheronaroad，whichisonthetopofthedam.Thisdamissobigthatthereisanelevatorinside.Theelevatorgoesdownforty-fourstoriesfromtheroadtothebottom.ThereisenoughconcreteinthisdamtobuildahighwayfromNewYorktoSanFrancisco.Thousandsofpeopleworkedonthisdamforfiveyears.
　　ThishugedamwascalledBoulderDamwhenitwasfinishedin1936.LateritwasrenamedHooverDaminhonorofapresidentoftheUnitedStates.HooverDam，oneofthehighestdamsintheworld，issituatedbetweenthestatesofArizonaandNevada.
　　inhonorof向...表示敬意
　　HooverDamlies____.
　　A.betweenArizonaandNevada
　　B.intheBlackCanyon
　　C.betweenNewYorkandSanFrancisco
　　D.bothAandB
　　【技巧精解】本题考查对文中细节事实的把握。文中giant意为“巨大的”，concrete意为“混凝土”。做这类题时，先要抓住题干和选项中的关键词，然后根据对文章的理解和记忆，用寻读的方式找到相关信息。可利用题干或选项中的关键提示词在文章中找出相对应的细节性句子与4个选项相对照，之后确定答案。本题答案分散在几处，这增加了寻找答案的难度，答题时要细心。由第二段的第一句话和最后一段的最后一句话可得出正确答案是D。
　　（2）间接事实题
　　解答此类题需要结合上下文提供的语境和信息进行简单的概括和判断。
　　【典型试题2】
　　InvitedbyMr.YeHuixian，hostofthewell-receivedTVprogramme"StarsTonight"，MissLuoLin，MissAsiaof1991，appearedastheguesthostessontheShanghaiTVscreenlastSunday.
　　BorninShanghaiandtakentoHongKongwhenshewasonlysixyearsold，LuoLinhasneverdreamedofbeingMissAsia.Herchildhooddreamwastobeanair-hostess.Beforeshetookpartinthecompetition,shehadbeenanairhostessinCathayAirlineforsevenyears.However,itstilltookherthreemonthstolearntheartofwalkingonthestage,dancing,singing,making-upandotherpropermanners,designedbytheAsiaTVStation.
　　"It'sreallyahardjobforme.Iwon'tenterforsuchcompetitionanymore.Anyhow,Iamquitelucky.IamalsogladtohavehadmorechancetoworkforthesocialwelfaresinceIwonthetitle.Thistime,inShanghai,I'dlovetomakeadeepimpressiononmyTVaudience,"saidLuoLinwithasweetsmile.
　　host主持人
　　guesthostess客座主持人
　　takepartin参加
　　air-hostess空中小姐
　　making-up化妆
　　WhichofthefollowingisNOTtrue?
　　A.LuoLinisanativeofShanghai.
　　B.LuoLinmovedtoHongKongwithherparents.
　　C.LuoLinwonthetitleofMissAsiain1991.
　　D.AsiaTVStationhelpedLuoLintobecomeMissAsia.
　　【技巧精解】本题同样考查对细节事实的把握。不过这类题目问“whichisnottrue”从反面设题，要求我们做题时要把原文中的相关信息与选项加以比较；有时还涉及到对某些关键词的正确理解，如本题中的anativeof意为“出生在某地的人”，move和take的区别等。A、C和D都可在原文找到答案，而B项原文列的是takentoHongKong，意为被别人带去香港，可判断不是movedtoHongKongwithherparents，即不是与父母一起搬家到香港，因此选B。
　　2.推断题
　　这种题型考查考生根据给出的信息暗示进行综合分析、推理，然后做出合乎逻辑的推断的能力。考查考生理解文章内容细节的能力，即要求考生在充分理解直接陈述的观点或事实的基础，领悟作者的言外之意。考查判断能力即考查考生根据文章所提供的事实进行分析、提出合理的见解或做出合理的评价的能力。
　　（1）推断题的常见命题用词及命题形式:
　　①Itcanbeinferredfromthetextthat______.
　　②Fromthetextweknowthat______.
　　③Thestoryimpliesthat______.
　　④Theparagraphfollowingthepassagewillmostprobablybe______.
　　⑤Thewriter'sattitudetowardis______.
　　⑥wecanlearnfromthepassagethat.
　　⑦Itcanbeconcludedfromthepassagethat.
　　⑧Thepassage/writersuggeststhat（暗示）.
　　（2）应注意的一些关键词：probably,mostlikely,usually,never,almost,all,any,every等。此外还有一些强调句式也应注意。
　　（3）解答推断题的方法
　　在抓关键词、关键句式的基础上，比较这些关键点，寻求在意义、语气上的某种共同点；既要抓关键词句，又要依据文章所提供的全部信息进行综合判断，而不能单纯地依据某一件事。
　　【典型试题3】
　　Somepeopleareneverright.Theyneverhavegoodluck.Theyusuallydothewrongthingandsaythewrongthing.AndevenifwhattheysayordoisOK，theyasarulesayitordoitatthewrongtime.Sothesepeoplealwayshaveproblems.Theyoftenbreakdishes.Theysometimesmissbusesandairplanes.
　　Mr.Neffisdifferent.Heisalwaysright.Heisneverwrong.Heusuallyhasgoodluck.Heseldomhasproblems.Heneverbreaksdishes.Henevermissesbusesorairplanes.Evenifhedoesmissthem，itisalwaysthefaultofthebusesorairplanes.Mr.Neffknowsalmosteverything.Hedoesn'taskquestions；heanswersquestions.Heneversays，"Idon'tknow."
　　Whichofthefollowingbestdescribesthewriter'sattitudetowardsMr.Neff?
　　A.HefindsMr.Neffhardtounderstand.
　　B.HethinksMr.Neffwonderful.
　　C.HefeelspityforMr.Neff.
　　D.HedoesnotlikeMr.Neff.
　　【技巧精解】本题考查根据作者叙述的事实及叙述的语气来推断其态度。文中多处用了有相似意义的一些词来强化语气，如always,never，seldom,almost，everything等，采用夸张的手法把Mr.Neff异化到极限，恰恰是要表达一种强烈的情感；还写到Evenifhedoesmissthem，itisalwaysthefaultofthebusesortheairplanes，这样对Mr.Neff的嘲讽就已经不言而喻了，暗示了作者对Mr.Neff自以为是、自高自大的讨厌之情。答案为D。
　　3.词义理解题
　　做此类题时，学生应尽可能地利用生词所在的上下文来猜测词义，即利用我们所熟悉的词或短语和上下文中的已知部分进行逻辑上的推理，有时还需依靠常识和经验。
　　【典型试题4】
　　Anothersourceofknowledgeisthevaststoreoftraditionalpracticeshandeddownfromfathertoson，ormothertodaughter，ofoldcountrycustoms，offolklore.Allthisisverydifficultforacollegestudenttoexamine，formuchknowledgeandpersonalexperienceisneededheretoseparategoodplantsfromwildgrass.Thecollegestudentshouldlearntorealizeandrememberhowmuchofrealvaluesciencehasfoundinthiswide，confusedwildernessandhowoftenscientificdiscoveriesofwhathadexistedinthisarealongage.
　　Inthelastparagraphthephrase"thiswide,confusedwilderness"refersto.[【视频课程】]
　　A.personalexperience
　　B.wildweedsamonggoodplants
　　C.theinformationfromtheparents
　　D.thevaststoreoftraditionalpractices
　　【技巧精解】本题考查根据语境猜测词义。把上下文关系理顺，是做对这类题的关键。从文章的话题来看，在第一句中谈传统习惯的传承时就已经点明，即thevaststoreoftraditionalpractices；接着第二句话说由于知识和个人经验的局限，大学生们很难研究，这一句中用allthis来指代了话题；最后一句中设题处同样有this字样，而且这一句结尾的thisarea与这里所指代的内容是相同的。选D答案。划线部分指的就是上文的anothersourceofknowledge，即:thevaststoreoftraditionalpractices。
　　附“推测词义的常用方法”：
　　推测词义是应用英语的重要能力，也是考试有的题型。它不但需要准确无误地理解上下文，而且要有较大的泛读量，掌握或认识较多的课外词汇，学会顺藤摸瓜，通过构词、语法、定义、同位、对比、因果、常识、上下文等线索确定词义。下面介绍几种猜词的方法:
　　①定义法，即通过文章中对生词的定义确定其词义，如:
　　Annealingisawayofmakingmetalsofterbyheatingitandthenlettingitcoolveryslowly.
　　句子给予annealing以明确的定义，即"退火"。再如:
　　Itwillbeveryhardbutalsoverybrittle-thatis,itwillbreakeasily.
　　从后面的解释中我们可以了解到brittle是"脆的、容易折断的"意思。又如:Theherdsman,wholooksaftersheep,earnsabout650yuanayear.
　　定语从句中looksaftersheep表明了herdsman的词义为"牧羊人"。
　　②同位法，即通过句子中的同位成分如同位语、同位语从句、破折号后的词组或语句来确定词义,如:
　　Theytraveledalongway,atlastgottoacastle,alargebuildinginoldtimes.
　　同位语部分alargebuildinginoldtimes给出了castle的确切词义，即"城堡"。
　　Weareonthenightshift-frommidnightto8a.m.-thisweek.
　　两个破折号之间的短语很清楚地表明nightshift是"夜班"的意思。
　　③对比法，即通过同义、反义或转折词的关系来确定词义,如:
　　Sheisusuallypromptforallherclass,buttodayshearrivedinthemiddleofherfirstclass.
　　but一词表转折，因此but前后的意思正相反。后半句的意思是她今天"第一节上了一半才来"，因此反向推理，可得出她平时一向"准时"的结论。
　　④构词法（前缀、后缀、复合、派生等），即运用词根、词缀的意义判断词义，如:
　　Perhaps,wecanseesomepossibilitiesfornextfiftyyears.Butthenexthundred?
　　possibility是possible的同根名词，据此可以判断定possibility意思是"可能性"。
　　⑤因果法，即运用因果关系和因果词如so,because,therefore,hence等来判断词义，如:
　　Thelackofmovementcausedthemusclestoweaken.Sometimestheweaknesswaspermanent.Sotheplayercouldneverplaythesportagain.
　　从后面的结果"永远不能再运动"中，可以推测permanent的意思为"永远的，永久的"。
　　在熟悉了二级阅读理解题型和命题思路后，下面介绍几种阅读答题技巧:
　　（1）先看题干，带着问题读文章
　　阅读题干，首先要掌握问题的类型，分清是客观信息题还是主观判断题。客观信息题可以从文章中直接找到答案；而主观判断题考查的是对文章的感情基调、作者未加陈述的观点以及贯穿全文的中心主旨的理解等，这类题必须经过对作者的态度、意图以及对整篇文章进行深一层的推理才能解答。
　　其次，这一步骤中应把短文后的所有题干都看到，做到心中有数，并且暂时不看选择项（除要求判断说法是否符合原文的题目外），以免受选择项干扰，然后有针对性地对文章进行扫读。此法加强了阅读的针对性，提高了做题的准确率，节省了时间。特别适用于对图形表格类阅读材料。
　　（2）以题干需求、文章大意为目标，速读全文
　　这一步骤的有效性，取决于目标是否明确。
　　一个目标是题干需求。根据我们从题目中得知的答题目标，在这一步阅读中要对有关信息进行快速定位，再将相关信息进行整合、辨别、分析、对比，有根有据地排除干扰项，选出正确答案；对与题目无关的信息就可以置之不顾，很快跳跃过去。
　　第一个步骤许多考生在答题时都是这样去做的，但同样的做法，取得的效果却往往不尽相同，其中当然有各人理解能力的差别，但另外一点原因也不能忽视——这就是对文章大意和主题的把握程度不同。
　　另一个目标是文章大意。
　　达成这一目标的方法之一是抓文体要素。考试中，在有限的时间里，考生必须运用略读、扫读、跳读等技巧，搜寻关键词、主题句，捕捉时空、顺序、情节、人物、观点，并且理清文章脉络，这样才能做到快速把握文章大意。不同体裁的文章，文章大意的具体内容也不同。如记叙文多以人物为中心，以时间或空间为线索，按事件的发生、发展、结局展开故事；论述文则包含论点、论据、结论三大要素，通过解释、举例来阐述观点。考生可根据文章的特点，详读细节，以动词、时间、地点、事件、因果等为线索，找出关键词语和主题句。
　　达成这一目标的方法之二是主题句。抓主题句是快速掌握文章大意的主要方法。多数文段都有主题句，而且主题句一般出现在文章的开头和结尾。当然也有些文章没有主题句，需要读者自己去归纳。因为主题句往往对全文起提示、启迪、概括、归纳之作用，所以主旨大意题、归纳概括题、中心思想类的题目往往可直接从主题句中找到答案。
　　比如，请找出下面一段文章的主题句:
　　Thepandaisapopularanimal.StoriesaboutthepandaintheWashingtonZooarealwaysfrontpagenewsandimportantfeaturesontelevisionnewscasts.Stuffedpandasareamongthemostpopulartoysforchildren,andpandapostcardsarealwaysindemandinzoogiftshops.
　　不难看出，第一句thepandaisapopularanimal是主题句，后面的句子都围绕这个句子展开。
　　（3）研究选项，逐题作答
　　通过上面第一遍阅读，我们应该对各题的答案及文章大意都大致上有了一定的认识，这是我们根据题干和文章本身得到的阅读结果。
　　但这些理解还要进一步细致分析，以便最后确定答案。第一遍阅读中我们尽量不看选项是为了避免干扰，这一步我们却一定要看选项，而且4个选项都要看完，千万不要认为某个答案正确就匆忙做出决定，而不看其他选项。
　　如果4个选项无一有把握时，或在几个选项之间犹豫不决时，最好把题干再读一遍，把握准题目要求回答的角度，尽量避免由于对题干本身理解不正确而造成的误选。
　　在回答问题时，有的题可以先运用常识排除太绝对或不可能的选项，但最重要的、原则性的做法仍然是要在文章中找出答题的依据，即你的答题结果所依据的句子。
　　（4）深层理解题，比较各题
　　答完题后，要进行复查，复查时可以先读短文后检验答案，也可以把答案与短文对照起来检查。复查的方法主要有二：
　　看按已有的理解，作者的观点、方式、态度、情感等方面是否存在不一致或相互矛盾之处。在实际阅读中，有时作者并未把意图说出来，阅读者要根据字面意思，通过语篇逻辑关系，研究细节的暗示，推敲作者的态度，理解文章的寓义。
　　这就是通常所说的深层理解。如果我们对文章的理解是正确的，这种忠实于原文；以文章提供的事实和线索为依据的深层理解应该会在文中得到多处应证，至少也是不出现矛盾。
　　看通篇各个测试点有无联系，有无矛盾。
　　这两种方法中，只要有一种出现了矛盾或不一致的现象，都要重新考虑答案。
　　【典型试题5】
　　Annealingisawayofmakingmetalsofterbyheatingitandthenlettingitcoolveryslowly.Ifmetalisheatedandthencooledveryquickly,forexamplebydipping（浸）itinwater,itwillbeveryhardbutalsoverybrittle-thatis,itwillbreakeasily.Metalthathasbeenannealedissoftbutdoesnotbreakaseasily.Itispossibletomakemetalashardorassoftasitiswished,byannealingit.Themetalisheated,andallowedtocoolslowlyforacertainlengthoftime.Thelongertheheatedmetaltakestocoolslowly,thesofteritbecomes.Annealingcanalsobeusedonothermaterial,suchasglass.
　　1.Whydopeopleputhotmetalinwater?
　　A.Tomakeithard.
　　B.Tomakeitsoft.
　　C.Tomakeitcool.
　　D.Tomakeitbrittle.
　　2.Inannealing,therequiredhardnessofmetaldependson　　.
　　A.thequantityofwaterused
　　B.thetemperatureofthemetal
　　C.thesoftnessofthemetal
　　D.thetimingoftheoperation
　　3.Assuggestedbythetext,howcanglassbemadelessbrittle?
　　A.Itcanbeheatedandthencooledquickly.
　　B.Itcanbecooledandthenheatedslowly.
　　C.Itcanbeheatedandthencooledslowly.
　　D.Itcanbecooledandthenheatedquickly.
　　1.正确答案：A
　　【技巧精解】此题考查对事实做出判断，属间接事实题。文中第二句说如果把金属加热，然后迅速放到水里冷却，也就会变得非常硬，但也变得脆。hard是工艺的主观目的。brittle是伴随的客观结果，故选A而不选D。B项明显错误；C项是手段不是目的，因此，都可排除。
　　2.正确答案：D
　　【技巧精解】此题考查对细节事实的把握，属直接事实题。timing意为时间的选择。本答案的依据是"Themetalisheated,…lengthoftime","Thelonger…thesofteritbecomes."两句，可以控制cool的时间，时间越长越soft,即硬度就越低。由此我们可得出结论:在退火过程中，金属的硬度是受到冷却的时间长短影响的。
　　3.正确答案：C
　　【技巧精解】此题考查依据文中事实做出合理判断的能力，属推理判断题。文中介绍过metal的退火工艺原理后，最后一句说Annealingcanalsobeusedonothermaterial,suchasglass，即退火工艺同样可用于像玻璃一类的其他材料，在做上一题的基础上，我们可以推断C是正确的。
　　做完答案后，最后复查下各测试点之间是否一致，是否有矛盾是很有效的方法，往往会有意想不到的收获。例如本例中，做完后就要应能看到第2题和第3题之间要一致，如果互相矛盾，就必然有一题错了。这种现象在阅读理解中是比较普遍的。
　　Section2theAnalysis（技巧精解）
　　虽然二级的阅读理解部分题量大，选项迷惑性大，考生感到时间紧，但解题的技巧还是有的。下面列举几篇文章，通过全文解析，介绍阅读理解的答题技巧。
　　【典型试题6】[【更多考资】]
　　Withonlyabout1,000pandasleftintheworld,Chinaisdesperatelytryingtoclone（克隆）theanimalandsavetheendangeredspecies（物种）.That'samovesimilartowhataTexasA&MUniversityresearchershavebeenundertakingforthepastfiveyearsinaprojectcalled"Noah'sArk."
　　Noah'sArkisaimedatcollectingeggs,embryos（胚胎）,semenandDNAofendangeredanimalsandstoringtheminliquidnitrogen.Ifcertainspeciesshouldbecomeextinct,Dr.DuaneKraemer,aprofessorinTexasA&M'sCollegeofVeterinaryMedicine,saystherewouldbeenoughofthebasicbuildingblockstoreintroducethespeciesinthefuture.
　　Itisestimatedthatasmanyas2,000speciesofmammals,birds,reptileswillbecomeextinctinover100years.Thepanda,nativeonlytoChina,isindangerofbecomingextinctinthenext25years.
　　Thisweek,ChinesescientistssaidtheygrewanembryobyintroducingcellsfromadeadfemalepandaintotheeggcellsofaJapanesewhiterabbit.Theyarenowtryingtoimplanttheembryointoahostanimal.Theentireprocedurecouldtakefromthreetofiveyearstocomplete.
　　"Thenucleartransfer（细胞核移植）ofonespeciestoanotherisnoteasy,andthelackofavailable（capableofbeingused）pandaeggscouldbeamajorproblem,"Kraemerbelieves."Theywillprobablyhavetodoseveralhundredtransferstoresultinonepregnancy（havingababy）.Ittakesalongtimeandit'sdifficult,butthiscouldbegroundbreakingscienceifitworks.Theyarecertainlynotputtinganylivepandasatrisk,soitisworththeeffort,"addsKraemer,whoisoneoftheleadersoftheProjectatTexasA&M,thefirst-everattemptatcloningadog.
　　"Theyaretryingtodosomethingthat'sneverbeendone,andthisisverysimilartoourworkinNoah'sArk.We'rebothtryingtosaveanimalsthatfaceextinction.Icertainlyappreciatetheireffortandthere'salotwecanlearnformwhattheyareattemptingtodo.It'saresearchthatisverymuchneeded."
	　　1.Theaimof"Noah'sArk"projectisto　　.
　　A.makeeffortstoclonetheendangeredpandas
　　B.saveendangeredanimalsfromdyingout
　　C.collectDNAofendangeredanimalstostudy
　　D.transferthenuclearofoneanimaltoanother

	
	正确答案：B


　　【技巧精解】本题考查对事实的把握。此题难在不是仅仅明白文中单个句子的意思就能答题，而是还要进一步地清楚文中提到的一些事实信息之间的关系。例如C与B是手段与目的的关系，文中第二段的"Noah'sArkisaimedatcollectingeggs,embryos（胚胎）,semenandDNAofendangeredanimalsandstoringtheminliquidnitrogen."极易使人误为C，其实收集胚胎不是最终目的，挽救这些濒危物种即下文说的"reintroducethespecies"才是这项工程的目标；B项与A项是包容与被包容的关系，A克隆熊猫只是其中一个物种，注意第一段中用的是"similarto"是相似的意思，在结尾段中也有We'rebothtryingtosaveanimalsthatfaceextinction，这表明目标不仅仅是panda，而是所有濒临灭绝的物种；D（细胞核移植）只是其中的步骤，与B项之间也是手段与目的的关系。
	　　2.AccordingtoProfessorKraemer,themajorproblemincloningpandaswouldbethelackof　　.
　　A.availablepandaeggs
　　B.hostanimals
　　C.qualifiedresearchers
　　D.enoughmoney

	
	正确答案：A


　　【技巧精解】本题考查对细节事实信息的把握。依据是"Thenucleartransfer（细胞核移植）ofonespeciestoanotherisnoteasy,andthelackofavailable（capableofbeingused）pandaeggscouldbeamajorproblem"一句，所以答案应该是A。
	　　3.Thebesttitleforthepassagemaybe　　.
　　A.China'sSuccessinPandasCloning
　　B.TheFirstClonedPandaintheWorld
　　C.ExploringthePossibilitytoClonePandas
　　D.China-theNativePlaceofPandasForever

	
	正确答案：C


　　【技巧精解】本题要求拟出文章的标题，属于考查概括事实信息的能力。首先要明确概括的要求，即全面、准确，二者缺一不可。从文中Theyarenowtryingtoimplanttheembryointoahostanimal.来看，只是培养出一个embryo，而整个克隆熊猫的工作（Theentireprocedure）couldtakefromthreetofiveyearstocomplete，还并没有成功，因此A、B对文章内容的概括不准确，可以排除。D项犯了概括不全面、不准确的错误。文章主要谈了Chinesescientist和Noah'sArk工程工作人员在挽救濒危物种方面做的一些工作，并由Dr.Kraemer之口介绍了相关的一些知识，这项工作在中国和美国都在开展，D项只谈中国不顾其他，这是概括不全面；而且中国开展的这项工作也还没有取得最后的成功，说China-thenativeplaceofpandaforever也显得为时尚早，这是概括不准确。因此D项不合文意。
	　　4.Fromthepassageweknowthat　　.
　　A.Kraemerandhisteamhavesucceededincloningadog
　　B.scientiststrytoimplantapanda'seggintoarabbit
　　C.KraemerwillworkwithChinesescientistsincloneresearches
　　D.abouttwothousandofspecieswillprobablydieoutinacentury

	
	正确答案：D


　　【技巧精解】本题既考查了对事实信息的准确把握，又考查了在事实基础上准确推断的能力。确切地说，A/B/D三项考查的是对事实信息的准确把握，C项考查的是推断。文中并没有表明Kraemer和他的小组已经克隆出一只狗，文中用"thefirst-everattemptatcloningadog"，关键信息是attempt,说明他只是首先尝试克隆狗，因此不选A。B颠倒了，文中是"Thisweek,ChinesescientistssaidtheygrewanembryobyintroducingcellsfromadeadfemalepandaintotheeggcellsofaJapanesewhiterabbit"，关键信息是cells和eggcells，仔细看就知道是兔的卵细胞而不是熊猫的，所以B也不对。至于D项在文中第三段"Itisestimatedthatasmanyas2,000speciesofmammals,birds,reptileswillbecomeextinctinover100years."可找到依据，inacentury意为“在一个世纪以后”，inover100years意为“在一百多年后”，意思基本相同。而C项在文章没提到，属于无中生有的干扰项。综上所述，最佳选项是D项。
　　【典型试题7】
　　Thecommoncoldistheworld'smostwidespreadillness,whichisplagues（疫病）thatfleshreceives.
　　Themostwidespreadfallacy（谬误）ofallisthatcoldscausedbycold.Theyarenot.Theyarecausedbyviruses（病毒）passingonfrompersontoperson.Youcatchacoldbycomingintocontact,directlyorindirectly,withsomeonewhoalreadyhasone.Ifcoldcausescolds,itwouldbereasonabletoexpecttheEskimostosufferfromthemforever.Buttheydonot.Andinisolatedarcticregionsexplorershavereportedbeingfreefromcoldsuntilcomingintocontactagainwithinfectedpeoplefromtheoutsideworldbywayofpackagesandmaildroppedfromairplanes.
　　DuringtheFirstWorldWarsoldierswhospentlongperiodsinthetrenches（战壕）,coldandwet,showednoincreasedtendencytocatchcolds.
　　IntheSecondWorldWarprisonersatthenotoriousAuschwitzconcentrationcamp（奥斯维辛集中营）,nakedandstarving,wereastonishedtofindthattheyseldomhadcolds.
　　AttheCommonColdResearchUnitinEngland,volunteerstookpartinexperimentsinwhichtheygavethemselvestothediscomfortsofbeingcoldandwetforlongstretchesoftime.Aftertakinghotbaths,theyputonbathingsuits,allowedthemselvestobewithcoldwater,andthenstoodaboutdrippingwetindraftyroom.Someworewetsocksalldaywhileothersexercisedintherainuntilclosetoexhaustion.Notoneofthevolunteerscamedownwithacoldunlessacoldviruswasactuallydroppedinhisnose.
　　If,then,coldandwethavenothingtodowithcatchingcolds,whyaretheymorefrequentinthewinter?Despitethemostpains-takingresearch,noonehasyetfoundtheanswer.Oneexplanationofferedbyscientistsisthatpeopletendtostaytogetherindoorsmoreincoldweatherthanatothertimes,andthismakesiteasierforcoldvirusestobepassedon.
　　Noonehasyetfoundacureforthecold.Therearedrugsandpainsuppressors（止痛片）suchasaspirin,butalltheydoistorelievethesymptoms（症状）
	　　1.Thewriteroffered　　examplestosupporthisargument.
　　A.4
　　B.5
　　C.6
　　D.3

	
	正确答案：C


	　　2.Whichofthefollowingdoesnotagreewiththepassage?
　　A.TheEskimosdonotsufferfromcoldsallthetime.
　　B.Coldsarenotcausedbycold.
　　C.Peoplesufferfromcoldsjustbecausetheirstayingindoorslongincreasestheopportunityforcoldvirusestobepassedon.
　　D.Apersonmaycatchacoldbytouchingsomeonewhoalreadyhadone.

	
	正确答案：A


　　【技巧精解】本题考查对直接事实信息的把握。通观全文，三、四、五段为三个例子，比较明显，注意辨别第二段包括爱斯基摩人、北极探险者两例，第六段还有科学家一例，这类题目关键要认真细读文章，特别几个例子往往连在一块。
　　2.Whichofthefollowingdoesnotagreewiththepassage?
　　A.TheEskimosdonotsufferfromcoldsallthetime.
　　B.Coldsarenotcausedbycold.
　　C.Peoplesufferfromcoldsjustbecausetheirstayingindoorslongincreasestheopportunityforcoldvirusestobepassedon.
　　D.Apersonmaycatchacoldbytouchingsomeonewhoalreadyhadone.
正确答案：A
　　【技巧精解】本题考查对事实的准确把握。第二段"itwouldbereasonabletoexpecttheEskimostosufferfromthemforever.Buttheydonot."注意这句话中的forever，文章并没有讲爱斯基摩人从来不感冒，而是讲他们没有不断地（forever）感冒。A项的表述过于绝对。
	　　3.Arcticexplorersmaycatchcoldswhen　　.
　　A.theyareworkingintheisolatedarcticregions
　　B.theyarewritingreportsinterriblycoldweather
　　C.theyarefreefromworkintheisolatedarcticregions
　　D.theyarecomingintotouchagainwiththeoutsideworld

	
	正确答案：D


　　【技巧精解】本题考查对直接事实信息的把握。第二段最后一句beingfreefromcoldsuntilcomingintocontactagainwithinfectedpeoplefromtheoutsideworldbywayofpackagesandmaildroppedfromairplanes.就是答案依据，这是一个复杂的复合句，要仔细分析。在…until/till…这一句型中，当until/till引导的时间状语从句中的时间到来时，它们前面行为就随之终止，即主句和从句的内容不共存在同一时间内。又如I'llstayheretilltherainstops（我在这里待到雨停为止）。文中这个句子实际上是要表明探险者不跟来自外部世界的患者接触，才能避免感冒，而一旦接触，就可能患上感冒。
	　　4.VolunteerstakingpartintheexperimentsintheCommonColdResearchUnit　　.
　　A.sufferedalot
　　B.nevercaughtcolds
　　C.oftencaughtcolds
　　D.becameverystrong

	
	正确答案：A


　　【技巧精解】第五段最后一句"Notoneofthevolunteerscamedownwithacoldunlessacoldviruswasactuallydroppedinhisnose"从反面暗示了志愿者常常因为鼻孔中的感冒病毒而染上感冒。
	　　5.Thepassagemainlydiscusses　　.
　　A.theexperimentsonthecommoncold
　　B.thefallacyaboutthecommoncold
　　C.thereasonandthewaypeoplecatchcolds
　　D.thecontinuedspreadofcommoncolds

	
	正确答案：B


　　【技巧精解】本题考查概括事实信息的能力。这是一篇论说性的文章，论说性文章中观点或论题才是能统率所有事实材料的内容。本题给的四个选项都没有明确表明作者的看法，所以都属于论题型选项。也就是说，要仔细对照文章，看文章是围绕哪个话题在说。A项只指了第五段，当然不能概括全文内容；C项中thewaythatpeoplecatchcolds只在文章第六段有所提及：andthismakesiteasierforcoldvirusestobepassedon，但介绍感冒的方式并不是文章的目的所在，因为这里是在回答上文提出的问题：whyaretheymorefrequentinthewinter?这是对coldcaulescolds这一错误观点的进一步驳斥。D项文章没有提到。至于B项，文章第二段首句"Themostwidespreadfallacy（谬误）ofallisthatcoldscausedbycold"就是全文讨论的中心问题，其余的部分都是为了说明这个谬误的，所以正确答案是B项。
　　【典型试题8】
　　Doyoualwaysunderstandthedirectionsonabottleofmedicine?Doyouknowwhatismeantby"Takeonlyasdirected"?Readthefollowingdirectionsandseeifyouunderstandthem.
　　“Toreducepain,taketwotablets（药片）withwater,followedbyonetableteveryeighthours,asrequired.Fornight-timeandearlymorningrelief（缓解疼痛）taketwotabletsatbedtime.Donottakemorethansixtabletsintwenty-fourhours.Forchildrensixtotwelveyearsold,givehalftheamount（量）.
　　Forchildrenundersixyearsold,askyourdoctor'sadvice.Reducetheamountifyousufferfromrestlessnessorsleeplessnessaftertakingthemedicine."
	　　1.Howmanytabletsatmostcanapersonover12havein24hours?
　　A.Three
　　B.Four
　　C.Six
　　D.Eight

	
	正确答案：C


　　【技巧精解】本题考查对直接事实信息的把握。第二段最后一句话:Donottakemorethansixtabletsintwenty-fourhours.Forchildrensixtotwelveyearsold,givehalftheamount（量）.24小时内服此药不要超过6片，接着又说:6岁至12岁减半，6岁以下的要遵医嘱。据此可知:12岁以上的人在24小时以内服此药最多不能超过6片。
	　　2.Howmanytabletsshouldanine-year-oldchildnormallytakein24hours?
　　A.Halfatablet
　　B.Onetablet
　　C.Threetablets
　　D.Fourtablets

	
	正确答案：C


　　【技巧精解】本题考查对直接事实信息的把握。据以上第1小题的分析:一般人在24小时以内服此药最多不能超过6片，9岁的小孩应减半，即最多应是3片。综合四个选项只有C适合。
	　　3.Whatistheadviceforonewhocannotsleepwellaftertakingthemedicine?
　　A.Stoptakingthemedicineatbedtime
　　B.Continuetotakethenormalamount
　　C.Takemorethanthenormalamount
　　D.Takelessthanthenormalamount

	
	正确答案：D


　　【技巧精解】本题考查对直接事实信息的把握。短文最后一句说，Reducetheamountifyousufferfromrestlessnessorsleeplessnessaftertakingthemedicine.若是服此药之后，睡不好觉，应减少药量（reducetheamount），故选D。
	　　4.Itcanbeinferredfromthedirectionsthatthismedicine　　.
　　A.helpsyoutofallasleepquickly
　　B.maybedangeroustosmallchildren
　　C.cannotbetakenifonefeelssleepy
　　D.shouldnotbetakenbychildrenundersix

	
	正确答案：B


　　【技巧精解】本题考查根据事实信息做合理的推断的能力。短文第三段说:Forchildrenundersixyearsold,askyourdoctor'sadvice.6岁以下的小孩服用此药要遵医嘱，这就说明此药6岁以下的小孩不能随便服用，或者说这药对他们可能有危险（maybedangeroustothem），所以选B。
	　　5.Thistextismostprobablytakenfroma________.
　　A.textbook
　　B.newsreel
　　C.doctor'snotebook
　　D.bottleofmedicine

	
	正确答案：A


　　【技巧精解】本题考查根据事实信息做出合理推断的能力。首先看清题目问的是整个这篇短文的出处而不是其中的一部分；其次注意到第一段的内容，若撇开第一段不看，那么此题选D也完全可以，但正因为有了第一段这个说明（你能读懂药瓶上的说明吗?你理解Takeonlyasdirected.的意思吗?读读下面的说明看看你是否能理解它们），所以要选A。newsreel意为新闻、新闻片。
　　【典型试题9】
　　SantaFe,thecapitalofNewMexico,U.S.A.,isinthecentralofthestate,ontheSantaFeRiver,whichflowsintotheRioGrande35kilometerswestofthecity.Morethantwothousandmetersabovesealevel,itliesintheSangredeCristoMountainswiththeOrtizMountainstothesoutheast.
　　SantaFewasfoundedin1609bytheSpanish（西班牙人）onanoldIndianvillage.In1680theIndiansseizedtheplacebutonlyhelditfortwelveyearsbeforetheSpanishretookit.ThecityremainedunderSpanishruleuntilMexicowonitsindependence（独立）in1821.FromthenonitwasaMexicancityuntil1846whenitwastakenoverbyU.S.troops.
　　Withapopulationof48,935,SantaFeisnowthesecondlargestcityinthestate.Becauseofitssunnyweather,richhistoryandsurroundingmountains,itisagoodplaceforholidaymakers.BesideshuntingandskatinginthemountainspeopleenjoyshoppingintheIndianandSpanishshops,whichbringsalargeincometothecityeveryyear.Insummerthereisaninternationalopera（歌剧）seasonwhenoperasareshowninapartly-roofed,open-airtheatredailyforpeoplefromallovertheworld.
	　　1.AtpresentSantaFebelongsto____________.
　　A.India
　　B.Mexico
　　C.Spain（西班牙）
　　D.theUnitedStates

	
	正确答案：D


　　【技巧精解】此题考查对直接事实的把握。SantaFe现属于什么地方，从短文开头第一句，SantaFe,thecapitalofNewMexico,U.S.A.,我们就可知道SantaFe是美国一个叫NewMexico州的州府；在介绍过SantaFe的历史时，最后一句FromthenonitwasaMexicancityuntil1846whenitwastakenoverbyU.S.troops，也再次表明它现属美国，所以选D。
	　　2.SantaFewasundertheruleoftheMexicansin　　.
　　A.1675
　　B.1695
　　C.1816
　　D.1833

	
	正确答案：D


　　【技巧精解】此题考查对直接事实信息的把握。从短文第二自然段的最后两句ThecityremainedunderSpanishruleuntilMexicowonitsindependence（独立）in1821.FromthenonitwasaMexicancityuntil1846whenitwastakenoverbyU.S.troops.可知:SantaFe自1821年至1846年由Mexicans控制。在所提供的四个选项中只有D（1833）在此时间范围内。
	　　3.ThepeoplewhoheldSantaFeforthelongestperiodinhistorywerethe　　.
　　A.Spanish
　　B.Indians
　　C.Mexicans
　　D.Americans

	
	正确答案：D


　　【技巧精解】本题考查根据事实信息进行推断。从短文第二段所提供的信息来分析:Spanish,Indians,Mexicans,Americans统治SantaFe的时间分别为:Spanish:1）1609-1680（计71年）；2）其后被Indians控制12年，即1680-1692；3）1692-1821（计129年）；4）合计时间71+129=200年Indians:计12年（见上面分析）,Mexicans:1821-1845（计25年）,Americans:1846-now（计150多年）由此可推知应选D。
	　　4.WhatisofspecialinteresttopeoplewhovisitSantaFeinsummer?
　　A.Hunting
　　B.Fishing
　　C.Watchingoperas
　　D.Doingshopping

	
	正确答案：C


　　【技巧精解】本题考查把握事实信息的能力。谈到度假，文中BesideshuntingandskatinginthemountainspeopleenjoyshoppingintheIndianandSpanishshops,whichbringsalargeincometothecityeveryyear.Insummerthereisaninternationaloperaseasonwhenoperasareshowninapartly-roofed,open-airtheatredailyforpeoplefromallovertheworld这几句依次说了四种活动：hunting,skating,shopping,watchingoperas。注意insummer这一时间信息，只有watchingoperas是夏天特有的，所以选C项。
	　　5.SantaFeisbestdescribedasa　　.
　　A.tradecenter
　　B.holidaycenter
　　C.homeforallnations
　　D.seaportcity

	
	正确答案：B


　　【技巧精解】本题考查对事实信息的概括，答这类问题要善于抓中心句。我们注意最后一个自然段的第二句，Becauseofitssunnyweather,richhistoryandsurroundingmountainsitisagoodplaceforholidaymakers,这是本段的主题句，后面几句都谈度假活动，…itisagoodplaceforholidaymakers告诉我们正确答案应为B项。
	　　6.OneofthereasonsforvisitorstocometoSantaFeisthatit　　.
　　A.hasfineweather
　　B.isthestatecapital
　　C.hashistoricalmonuments
　　D.isontheSantaFeRiver

	
	正确答案：A


　　【技巧精解】从短文的最后一个自然段的第二句可知:SantaFe之所以能吸引世界各地游客有三个原因:一是sunnyweather,二是richhistory,三是surroundingmountains,这样选择的范围缩小在A和C，但从下文写的hunting,skating,shopping等主要的旅游项目来看，最佳选项还是应选A。
　　【典型试题10】
　　FrankSmithsonwokeupandleanedovertoturnoffthealarmclock."Ohno!"hethoughttohimself."Anotherdayatthatoffice;abosswhoshoutsatmeallthetime."\"AsFrankwentdownstairshiseyesfellonalargebrownenvelopebythedoor.Hewasoverjoyedwhenheopeneditandreadtheletterinside."BigwoodsFootballPools（足球赌博公司）wouldliketocongratulateyou.Youhavewonhalfamillionpounds."Franksuddenlycametolife.Thecigarette（香烟）fellfromhislipsasheletoutashoutthatcouldbeheardhalfwaydownthestreet.At11:30Frankarrivedatwork."Pleaseexplainwhyyou'resolate,"hisbosssaid."Goandjumpinthelake,"repliedFrank."I'vejustcomeintoalittlemoneysothisisgoodbye.Findyourselfsomeoneelsetoshoutat."ThateveningFrankwassmokingaveryexpensiveHavanacigar（雪茄）whenaknockwasheardonthedoor.Herushedtothedoor.Outsideweretwomen,neatlydressedingreysuits."MrSmithson,"oneofthemsaid,"we'refromBigwoodsPools.I'mafraidthere'sbeenaterriblemistake..."
　　这是一篇幽默故事。讲的是正当Smithson与他的老板有些不愉快的时候，竟意外地收到了足球赌博公司的一封来信，信上说他将得到该公司的一笔巨款，他当天便潇洒地炒了老板的鱿鱼，但足球赌博公司来人说他们出了点差错（即是说那笔钱不是他的）。此时Smithson的心情可想而知。至于命题，幽默故事的命题往往是推理性的，所以在做这类题时，一定要根据故事情节的展开、发展、结局（尤其要注意其幽默点）进行合理的推断，选出最佳答案。
	　　1.WhatdoweknowaboutFrank?
　　A.Hewasalazyman.
　　B.Hedidn'tmakealotofmoney.
　　C.Hewasaluckyperson.
　　D.Hedidn'tgetonwellwithhisboss.

	
	正确答案：D


　　【技巧精解】本题考查对事实的把握，同时考查合理推断的能力。A/B/C三项都没有依据，推断正确。A项在文中有直接依据，注意其中两句对话的言外之意:一是Anotherdayatthatoffice;abosswhoshoutsatmeallthetime.从Smithson这句自言自语的话中可以体会到:他与老板的关系不好。二是当他到老板那儿去辞职时说的一句话。老板说:Pleaseexplainwhyyou'resolate.此时，Smithson的回答是I'vejustcomeintoalittlemoneysothisisgoodbye.Findyourselfsomeoneelsetoshoutat.大家可能已体会到Smithson这句话的得意和尖刻（请注意此句alittlemoney与前文中halfamillionpounds所表达的意思形成的反差）。
	　　2.Whenheheardtheknockatthedoor.Frankprobablythought　　.
　　A.someonehadcometomakeanapology
　　B.someonehadcometogivehimthemoney
　　C.hisfriendshadcometoaskaboutthefootballpools
　　D.hisfriendshadcometocongratulatehimonhisluck

	
	正确答案：B


　　【技巧精解】本题考查合理推断的能力。假若你是Smithson，这天早上你收到一封信说你将意外地得到一笔巨款，当天你就辞去了那份令人讨厌的工作，晚上你在家里正抽着averyexpensiveHavanacigar--也许还在做着美梦吧?!这时门外有人敲门，你认为会是谁呢?答案很显然。
	　　3.Onhearing"...there'sbeenaterriblemistake..."Frankwasmostlikelytobe　　.
　　A.disappointed
　　B.worried
　　C.nervous
　　D.curious

	
	正确答案：A


　　【技巧精解】本题考查合理推断的能力。门外来人正是足球赌博公司的，但他们不是来送钱的，而是来道歉的，并说I'mafraidthere'sbeenaterriblemistake...此话的言外之意已经很清楚，即那笔钱不是给他的，是他们搞错了。此时Smithson的心情当然只能是terribly“disappointed”了！
　　【典型试题11】
　　Mostanimalshavelittleconnectionwithanimalsofadifferentkindunlesstheyhuntthemforfood.Sometimes,however,twokindsofanimalscometogetherinapartnership（伙伴关系）whichdoesgoodtobothofthem.Youmayhavenoticedsomebirdssittingonthebacksofsheep.Thisisnotbecausetheywantaride,butbecausetheyfindeasyfoodintheparasites（寄生虫）onsheep.Thesheepallowthebirdstodosobecausetheyremovethecauseofdiscomfort.Soalthoughtheycanmanagewithouteachother,theydobettertogether.
　　Sometimesananimalhasaplantpartner.Therelationshipdevelopsuntilthetwopartnerscannotmanagewithouteachother.Thisissointhecorals（珊瑚）ofthesea.Intheirskinstheyhavetinyplantswhichactas"dustmen",takingsomeofthewasteproductsfromthecoralandgivinginreturnoxygenwhichtheanimalneedstobreathe.Iftheplantsarekilled,orareeverpreventedfromlightsothattheycan'tlivenormally,thecoralswilldie.
	　　1.Somebirdsliketositonasheepbecause___________.
　　A.theycaneatitsparasites
　　B.theydependonthesheepforexistence
　　C.theyenjoyedtravelingwiththesheep
　　D.theyfindthepositionmostcomfortable

	
	正确答案：A


　　【技巧精解】此题主要考查对细节事实的把握。鸟儿坐在羊背上，不是因为它们想骑羊（notbecausetheywantaride）,而是因为它们可以比较容易地在羊背上找到寄生虫吃（butbecausetheyfindeasyfoodintheparasites）。其中B项thedependonthesheepforexistence可能有一定的干扰性，但只要结合想想，就知道即使鸟儿不能在羊背上觅食，也应该还能在其他地方找到食物，所以说forexistence言过其实了。
	　　2.Theunderlinedword"they"inthelastsentenceofthefirstparagraphrefersto　　.
　　A.birdsandparasites
　　B.birdsandsheep
　　C.parasitesandsheep
　　D.sheep,birdsandparasites

	
	正确答案：B


　　【技巧精解】此题考查对事实信息的把握。因为该段主要讨论鸟和羊的相互依存关系，而最后一句正是本段的一个小结，话题并未转换；从这一句中的dobettereachother来看，parasites无论是与bird/sheep都无法和平共处，更谈不上相处得很好了，所以这里的they指的是birds和sheep。
	　　3.Itcanbelearntfromthetextthatthecoraldependontheplantfor　　.
　　A.comfort
　　B.light
　　C.food
　　D.oxygen

	
	正确答案：D


　　【技巧精解】此题考查对事实信息的把握。最后一段讲到小植物充当垃圾清运工（dustmen）,为珊瑚清理废物（takingsomeofthewasteproductsfromthecoral），同时也为珊瑚提供其呼吸所需要的氧气（andgivinginreturnoxygenwhichtheanimalneedstobreathe），其中whichtheanimalneedstobreathe这个定语明确告诉了我们答案。
	　　4.Whatdoesthesecondparagraphmainlydiscuss?
　　A.Someanimalsandplantsdependoneachotherforexistence
　　B.Someanimalsandplantsdeveloptheirrelationshipeasily
　　C.Someplantsdependoneachotherforfood
　　D.Someanimalslivebettertogether

	
	正确答案：A


　　【技巧精解】此题考查对第二段事实的把握，并要求归纳段意。C/D项很容易排除，因为从本段开头就可以知道谈的是动物与植物之间的关系。由于Iftheplantsarekilled,orareeverpreventedfromlightsothattheycan'tlivenormally,thecoralswilldie这一句的提示，可以知道本段是写小植物与珊瑚同生共死（forexistence）。
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